arientalmotor Hlm |H|H H H"l‘ Hl” ‘"l‘ H"‘ |m| HH ‘"‘ For English version, see opposite side. 3. ATy hEEYYU—IVITEBL. RAFYTRIL MEHHEITET,

HL-17156-7
BN & B8R £
BBV LTV ERESYD ESTRVNET,
EASYU—XEH tvdtEv b COEUESHEEICE. RREORYEVLH-PERS FOFEEEERULTOET,
 EURSHIAEE K BFHCHY, BRERSCHEN AT,
PAES-S-2X/Y. 4X/Y. 6X/Y (NPNHZ)) s BFEHICBSBLEEF. WOTHBRENBETBCHTRELTIRELY,
PAES-SY-2X/Y. 4X/Y. 6X/Y (PNPHi77) FETUSRILR (M3)
#@iThIL7:0.6 N-m
;ﬁ_gﬁl:@ﬁ@gg 4, ARTILTEFT—TIL I HITERLE T, EASM4.,EASM6
EASM4 & EASM6 (&, IR 7 IfaI&or — DI EEV Y U—IVICITCEE T, 5
m HHFEDLE—E m Yty FOAB
ROBOPTNTH>TVB T EEBRLTL RSN, RELEWIELTS1E \
bty NEE | BEEE | tUThh | J2 hxA(Z0EV RS Bl SBLRSOLE- BERETIEE T, aRT IR — T
PAES-S-20] EASM2 - s VY 3@ G
EE-SX674A e ORI IFAIEIT —TIU (2 M) e 3K -
PAES-S-40] EASMA NPN (F LOVHRE) « EVYETRE......... 3@ ©)
PAES-S-601 EASM6 o SESAR 118 ARJIOEr— I
SY. o RETURIL - (M3) PES
PAES YD | AW EE-SX674R BRI M2.8) 2% 5. BHREEELET. XT=IWILT . Y7 —IN5A7
PAES-SY-40 | EASM4 | PNP (o OV A) Ry~ (M3) Py XF—TWEAF: RATUPRIL ~ (M2.5) TEHIRE T — T LAEDR RIS RUTMT |
PAES-SY-61 EASMé6 BT TLREE LY, N ) i ATV : 7S )
YF—TIWIAF: BEHATT—IICRACTIIERL, SETRIL ~ N ~&

RO OECE. XXF—TWIA D ERYYF—TILIA D BAVET, (M2.5)

#INIL2:0.6 N'm

SR T |!

(M2.5) TEENARZE D — T [T T T RE L,

EHpl (Y OmEN/ —IILA—T U DIHE)

PAES-S-2X/Y. 4X/Y. 6X/Y(NPNH77) PAES-SY-2X/Y. 4X/Y. 6X/Y(PNPH77)
Y g & iI:mm
s ® s ® YIRS SEE (&4 mm)
e O | & S D O - X RO—21 50 mmOiEE. BUNF5N2E> 56 2 B3,
2 out = DC5~24V . 2 Out |50 mALF T DC5~24V < EUYEENRE. BORREICORUATSNET,
{_1 IE o |[—100mALT IE o an cBiF XF=IWIAFDFITT. YF—TII1 FTHRYIRHIBIRLTY.
=] =] it
41% 41% LS U IRTIE FHLSEUYIRBME A SBREMUE XF=IWIA7 YT =INIAT
AHBRSHIE HOME &/ DHRHINTE L5\/ L6 L7
L2\ /21 L3) ZhO—27-16(HOME >/ 5FH) L7 L4 ‘
¥ EVHORBRIBESSECISTEDUET, REBEMBEERTZE., /—TIIO—RBUET, \ ! T
ol T 09 J @ Q
EUHOEREERT 5L EE. £YUHS 2 MU TOMBEICERIVT VY (10 uF. 50 V) ZEALTLREEL, o L S O ‘ < u !
@ o @
‘  — @g : i ‘,it—i o o L i ol o L |
1T =] © - @
B H. L2 HOME /4 EXAR +LStEvY L4 :‘ L8 :‘ L8
-LStevy
s - — . = _ -
A ~I B EERETEYYEY FERUMEIRVTL RSV, IR -EBHEORERICRYF T,
e EEHRSA5 | L1 L2 L3 L4 L5 L6 L7 L8 L9 | L10 | L11 | L12 | L13 | L14
— . — . EASM2 29 3 45 | 456 | 3 | 291 (303|363 (244|179 | 67 | 191|201 | 10
- EYYPEERIE. BFRICRULABTRUAEI T REN. BIAREEEISE. Y INRIETERL, Fl
EHARD VY CS > TRV UNTET B REICRY F T, EASM4 265 | 2 65 | 544 | 2 | 237|395 | 455|258 | 193 | 81 |39.7| 407 | 15
 BERETCIRIIMAET — T EBRUBVTLREWN, EVUHRIETZERICEYET, EASM6 41 5 80 | 734| 5 |299| 48 | 54 | 373|308 | 196 |51.2|522| 10
« BV HENSEPENREEER S A FICBUM B EEF. BINBORUEFERLTIRE0, B YF—DII A THRENR NEETE (B mm)
 ARTINTBT—TIWEEVIHSHAT EEE. T—TIWESDESBUTLREN,
12
L1 2% 03 6+0.1
m VYOI
ey < - e Orientalmotlor 3. BEAZ0HOBEICSIFZFYIVIILE—I—HKRE
1L AR M3 T, €YD EY IRRRIEELET. “ o o o6 _ bk A
2. RETHRIL R ERET v b (& M3) BV HENSECIRYRITET., FRAEFURIVS (M3) = © Copyright ORIENTAL MOTOR CO., LTD. 2012
ATy MEEYHLU—ILICET 2. MOMFRNTLREN, FdIL7:0.6 N-m ABEF vk (M3) 2024 %3 BSIE
~ Y A AN
EHAS15 T 2 3 AUIVFIE-F—REH
2 EASM2 201£02 | 10 | 4 BALEDEEL]
HEICET B BEVEDE.
EASM4 407 £0.2 15 35 E%N:outo)é‘m%u;CS%E REEEOHRERO
EASMé 52202 | 10 | 4 BERTHEBEYI— FII—G—EREYI—
ey i Ed=] ARV (M3) 0120-925-410 0120-925-601 0120-911-271
ﬁ%*ﬁlatyﬁt%’fbﬁb\&5l:EﬂUﬁb“CQ‘:“‘Jmo 1) S FE/5:00 ~ 1800 0120-984.815
EEL, webts@orientalmotor.co.jp

WEBY A hCHBHNEDEP I ERIHIFTNET .
https://www.orientalmotor.co.jp/ja




3. Insert the hexagonal nuts into the sensor rail and tighten the hexagonal socket head
screws.

Orientalmotor

HL-17156-7

Sensor rail

OPERATING MANUAL

Thank you for purchasing an Oriental Motor product. This manual describes product
handling procedures and safety precautions.

* Please read it thoroughly to ensure safe operation.

¢ Always keep the manual where it is readily available.

Sensor set for exclusive use of EAS Series
PAES-S-2X/Y, 4X/Y, 6X/Y (NPN output)
PAES-SY-2X/Y, 4X/Y, 6X/Y (PNP output)

Hexagonal socket head screws (M3)
Tightening torque: 0.6 Nem (85.2 0z-in)

Checking the product 4. Connect the flexible cable with connector to the sensor. EASM4, EASMé6
.. . . . sensor rail. ©
B Combination list B Items included in sensor set
% Verify that the items listed below are included. Report any missing or damaged items to
Sarser s meskl Applicable Sensor PhsiemEEsanser MRl the Oriental Motor sales office from which you purchased the product. Sensor Flexible cable with connector
product output —
* Sensor « E%
PAES-S-201 EASM2 * Flexible cable with connector [2 m (6.6 ft.)]... > —
PAES-S-401 EASM4 NPN EE-SX674A ¢ Sensor mounting bracket ©
(OMRON Corporation) « Shielding plate Flexible cable with ¢
PAES-S-600 EASMé * Hexagonal socket head screw (M3). exible cable with connector
PAES-SY-2[] EASM2 * Hexagonal socket head screw (M2.5).. 5. Secure the shielding plate. X-table type o Y-table type
PAES-SY-40] EASM4 PNP EE-SX674R ‘ * Hexagonal nut (M3) X-table type: Install the shielding plate to the screw holes on the side of the table Screw holes machining —= |
(OMRON Corporation) with the hexagonal socket head screws (M2.5). el : ©) )
PAES-SY-601 EASMé Y-table type: Provide screw holes on the load by a customer, and install the shielding hHeﬁagonﬂ Sf)h;ket) ~&
: ead screws (M2.5
The box (L) in the model indicates X (X-table type) or Y (Y-table type). plate to the load with the hexagonal socket head screws (M2.5). Tightening torque:

0.6 Nem (85.2 0z-in)

"Iﬂﬂm

Shielding plate

Connection example (when the sensor is of "normally open") —15 ®
PAES-S-2X/Y, 4X/Y, 6X/Y (NPN output) PAES-SY-2X/Y, 4X/Yv6X/Y (PNP output)
—— B @ — ] bown @ B Recommended sensor installation position (Unit: mm)
pink* © pink* ©:;
__|[1___@ L E— --I[‘---@ L @ ¢ When the stroke is 50 mm, two sensors can be installed.
Black Out + 5t024VDC —|<_ Black Out —>50mAorless = 5t024VDC « The sensors and shielding plate can be installed to the opposite side in the figure.
<— 100 mA or less  The following figure is an installation example of the X-table type. The sensor installation positions are the same even in the Y-table type.
4<_l I Blue © I Blue ©
. . ) . o . X-table type Y-table type
Lz m (6.6 ft.) or less Lz m (6.6 ft.) or less -LS sensor-detection position +LS sensor-detection position  Mechanical limit position

T = T ™ Mechanical limit position HOME sensor-detection position L5 L6 L7
* Normally open or nor ally closed can be selected by the connection method of the sensor. When selecting normally closed, connect the brown lead and pink lead. L2y /21 (L3) Stroke ~16 (When the HOME sensor is used) 7 %rf
: I
=1 = o9 : IN'e) G
To extend the wiring length of the sensor, insert the electrolytic capacitor (10 pF, 50 V) to the position of 2 m (6.6 ft.) or less from the sensor. g0 [ ~ " ‘
— ! =
@ 0] ¢ ® L ]
‘ 1 —— o0 &; oo | |
. ' I e — = alo | %o !
Installation EEm @ I @
L1 21 HOME sensor™_Shielding plate +LS sensor, L4 5‘ L8 E‘ L8
-LS sensor
ACAUTI 0 N Do not install the sensor set while the power is being supplied. Doing so may result in injury or damage to equipment. -
Motorized linear slide L1 L2 L3 L4 L5 L6 L7 L8 L9 L10 L1 L12 L13 L14
m « Be sure to install the sensor and shielding plate in the direction shown in the figure. Installing them in the wrong direction may disable sensor EASM2 29 3 45 456 3 29.1 303 36.3 24.4 17.9 6.7 19.1 20.1 10
QPP detection or cause tl.we shielding plate‘to contact the sensor, resultlrjg in sensor d‘amage.' EASM4 265 5 65 544 5 237 395 455 258 193 81 397 207 15
¢ Do not connect or disconnect the flexible cable with connector while the power is supplied. It may damage the sensor.
EASMé6 41 5 80 734 5 29.9 48 54 373 30.8 19.6 51.2 52.2 10

@ ¢ When installing the sensor mounting bracket and shielding plate to the motorized linear slide, be sure to use the included screws.
* When removing the flexible cable with connector from the sensor, do not pull the cable. B Dimensions for shielding p|ate for Y-table type (Unit: mm)

o 12
B Installing the sensor L1 %3 6+0.1
. . \
1. Secure the sensor to sensor mounting bracket with the hexagonal socket head screws (M3).
2. Attach the hexagonal socket head screws and hexagonal nuts (both M3) to the sensor Hexagonal socket head screws (M3) © N %} C) -
mounting bracket. Tightening torque: 0.6 N-m (85.2 0z-in) Hexagonal nuts (M3) - -
Do not tighten because the hexagonal nuts will be inserted into the sensor rail.
Motorized linear slide L1 L2 L3 Orientalmotor is a registered trademark or trademark of Oriental Motor Co., Ltd., in Japan and
EASM?2 20.140.2 10 4 other countries.
© Copyright ORIENTAL MOTOR CO,, LTD. 2012
+
EASMA4 40.7£0.2 15 35 Published in March 2024
EASMé6 52.2+0.2 10 4 « Please contact your nearest Oriental Motor office for further information.
Sensor mounting bracket Hexagonal socket

head screws (M3)

@ Install the shielding plate so that the it does not contact the sensor.
If the included shielding plate contacts the sensor, provide the

shielding plate by a customer.

ORIENTAL MOTOR U.S.A. CORP.
Technical Support Tel:800-468-3982
8:30am EST to 5:00pm PST (M-F)
ORIENTAL MOTOR (EUROPA) GmbH
SchiessstraBe 44, 40549 Dusseldorf, Germany
Technical Support Tel:00 800/22 55 66 22
ORIENTAL MOTOR (UK) LTD.

Unit 5 Faraday Office Park, Rankine Road,
Basingstoke, Hampshire RG24 8QB UK
Tel:+44-1256347090

ORIENTAL MOTOR (FRANCE) SARL
Tel:+33-1 47 86 97 50

ORIENTAL MOTOR ITALIA s.r.l.
Tel:+39-02-93906347

ORIENTAL MOTOR ASIA PACIFIC PTE. LTD.
Singapore

Tel:1800-842-0280

ORIENTAL MOTOR (MALAYSIA) SDN. BHD.
Tel:1800-806-161

ORIENTAL MOTOR (THAILAND) CO., LTD.
Tel:1800-888-881
ORIENTAL MOTOR (INDIA) PVT. LTD.

Tel:1800-120-1995 (For English)
1800-121-4149 (For Hindi)

TAIWAN ORIENTAL MOTOR CO., LTD.
Tel:0800-060708

SHANGHAI ORIENTAL MOTOR CO., LTD.
Tel:400-820-6516

INA ORIENTAL MOTOR CO., LTD.
Korea
Tel:080-777-2042

ORIENTAL MOTOR CO., LTD.
4-8-1Higashiueno, Taito-ku,Tokyo 110-8536
Japan

Tel:+81-3-6744-0361
www.orientalmotor.co.jp/ja



